S BREER A =1

ImEFLE BREER  EEES

WiREFLE

<

N “ E= O S RERE i
{ 2 SCCBAB P RN =H R R 2 A RBR
s

<a- [ I 1 1 SCCEAB EARRR 2 PSRRI
SCCNAB THMW - TEW
- e ( )
A3
C
% 2-Ms | PN %/
28 C\ \>4 Z_* [
. | @us
e
6 B %7 =
- o
Hi \N"4 7
FanY \, S =
B+0.1 = 4 5
o Ta T2
TSRS TG
oS - @p - o8 wEAL
SCCBAB - D12 - B10
ors AE FERST
= @D o8 Dy [MBBFES)| Ms(BF) | d | | K | a | T | T2 | | ]| C
8 25 M3 8 8 9 | 8
10 A M4 45 | 75 10 i 5 10 10
12 o 30 M4 S 10
SCCBAB e —
15 . .
SCCEAB 34 12 1515 g | 2| 12 |0°
SCCNAB 16 | 35 | s 12
20 40 M5 M5 55| 9 | 14 1w | s |1
25 12 45 16 17 18 | 17
30 15 55 M6 M6 66 | 12 | 20 20 | 10 | 20 | 20 | 1

107 BESERARIESEREBEL LN www.ant-fa.com



